Click to shop online @ www.trimantec.com or call 336-767-1379

More Oil Space ‘ @RIMANTES

.| A STAF Linear Guide
One profile for All

SE S

oD vaD v
Z\

Ginae
Sy

\\lf

=
N

I [
4 2\ 4 2\
Slide type : [ Number of slides J Preload type :
BGX : non-cage ZF : clearance
BGC : cage Seal type: Z0: zero preload
: : [ ] :withend & bottom seals Z1 light preload
Assembly height : UU : withend seals Z2 : medium preload
H : high assembly ] SS : with end, bottom & top seals L Z3 : heavy preload
S : low assembly DD : with double & bottom seals
. o p N
X: Spec|a| assemb|y ZZ : with end, bottom seals & Accuracy :
\ J metal scrapers N - normal
KK : with double, bottom seals & 1 H : high
Size : mm Ji metal scrapers . -
[ EE : with double, bottom & top seals P: Premsmn .
. SP : super-precision
FF : with end, bottom, top seals & ) .
% N UP : ultra-precision
Type and flange : m-etal scrapers \ y,
BN : no flange/standard | | GG : with double, bottom, top seals &
BS : no flange/short .meFaI scrapers 4‘ Rail length ]
BL : no flange/long Lubrication system (LS) :
BE : no flange/extra long AA : with end, bottom seals & LS - .
FN : flange/standard UA : with end seals & LS Two rails in parallel J— H |g h daCCura Cy
FS : flange/short SA : with end, bottom, top seals & LS h
FL : flange/long DA : with double, bottom seals & LS .
FE : flange/extra long ZA : with end, bottom seals, Rail type : LOW noise
N J metal scrapers & LS L : standard
KA : with double, bottom seals, C : bolt up from bottom .
with dou p Smooth Traveling

metal scrapers & LS

EA : with double, bottom, top seals
&LS

FA : with end, bottom, top seals,
metal scrapers & LS

GA : with double, bottom, top seals,
metal scrapers & LS

—— S50 n )
OME Technology Co. Ltd. ‘e v

www.ome.com.tw UKAS
h MANAGEMENT
No.46, Ln. 168, Sanshu Rd., Sanxia Dist., New Taipei City 237, Taiwan SGS SHE

Tel:+886-2-26716600 Fax:+886-2-26711400

éoﬂ

© OME Technology is ISO9001 : 2008 Certified.

BG SERIES-20160817-E10v2 www.staf.com.tw


https://trimantec.com/product-category/linear-bearings-and-rails/linear-bearings-and-rails-standard/

f=~— LI

»\

BGX & BGC SERIES (S-B)

BGX & BGC SERIES (H-B)

BN, BL, BE O BL:BGX— J1 ; BGC — J
Assembly-mm Block-mm Rail-mm Rating load-kN Static moment - kN-m |Block| Rail Assembly-mm Block-mm Rail-mm Rating load-kN Static moment - kN-m | Block | Rail
Model HlW|[W2|E L [BlJ|MQ] I L1 OilH [T | N |W1|H1 |F |d D | h |C-BGX|C-BGC| CO | My My M; | kg | kg/m Model H|lw]|w2|E L |[B|J[J1|mMal| 1| L1 OilH [ T1 | N [WilH1|[F | d | D | h |C-BGX|[C-BGC| CO | My My M, kg | kg/m
S15BS | 24|34 | 9.5 |33 | 40.6 | 26 M4 | 4.8 |22.2 | M4X0.7 |55 | (5) [ 15|13.0|60 |45 | 75|60 | 46 5.7 | 98 | 0.068 ) 0.032 [0.032 | 0.10 | 1.28 H15BN | 28 [ 34 | 9.5 | 3.3 | 58.6 | 26|26 M4 | 6.0 | 402 | Max07 | 95 | (5) |15(13.0{60|45|75|6.0| 93 | 115 | 196 |0.136 | 0.117 | 0.117 [ 0.19 | 1.28
i || 2 [ ][0 |88 || shiB || 25|l 5 || 0 || 4 ||a || SR || i || @) || 18 |[e0) 80 |49 || v || 60 | 88 || ke | TE | 618 || G0 || SR || O || 148 H20BN | 30 | 44 [12.0/4.5| 69.3 32|36 | M5 | 6.5 |48.5 | M6X1 | 7.1 [(15.6)[20[16.3(60 | 6.0 | 95|85 | 143 | 17.7 | 30.5 |0.285 | 0.220 | 0.220 | 0.31 | 2.15
STSBL | 24134195 |33)661]26]26| M4 | 48 |47.7 | M4X0.7 |55 ] (5) | 15]130/60 |45 | 7.5]60 | 1.3 | 139 | 237 | 0.164 | 0.169 | 0.169 | 018 | 128 | g py0pL | 30 [ 44 [12.0] 4.5 | 82.1[32]36 |50 | M5 | 65 | 61.3 | Mex1 | 7.1 [(15.6)[20[16:3[60 [6.0 | 9.5 [ 85| 186 | 23.0 | 395 |0.369 | 0361 | 0.361 | 0.36 | 2.15
2;22: zg 2‘2‘ 191'2 4312 j;:; 22 34 m: ::2 2; M'\:;(;-’ 2? (1(215) ;2 122 zg 2:2 ;2 2:2 173:‘7 1;9 ?;‘; 2-?‘1“73 g-jzz g-igj g?i ;f: H20BE | 30 | 44 [12.0] 4.5 | 97.3 [ 32]50 M5 | 65 | 765 | Mex1 | 7.4 |(15.6)[20(16.3| 60 [6.0 | 95| 85| 221 | 27.3 | 48.9 | 0456 | 0557 | 0557 | 0.47 | 2.15
S20BN | 28 | 42 [11.0(4.5 | 69.3 | 32|32 M5 | 55 |485 | Mex1 |5.1 |(15.6)| 20 [16.3|60 |6.0 | 95| 85 | 143 | 17.7 | 305 0.285 0.220 0.220 0.26 | 2.15 F298N} 40 148 1125198 | 792195199 M6 | 90 157.5 | MEX1 1142|(156)]23]192160 7.0 1110190 201 | 248 | 41.1 0440 | 0352 | 0.362 } 045 | 2.88
: : - ©| H25BL | 40 | 48 |12.5(5.8 | 93.9(35(35(|50 | M6 | 9.0 | 72.2 | MeX1 |14.2|(15.6)[23]|19.2|60 | 7.0 [11.0| 9.0 | 25.9 | 31.9 | 52.8 | 0.566 | 0.568 | 0.568 | 0.66 | 2.88
s25BS | 33 [ 48 [12.5(5.8 | 54.0 35 M6 | 6.8 [323 | mex1 [7.2 [(156)[ 23 [19.2{60 [7.0 [11.0] 9.0 | 103 | 127 | 21.0 [ 0.225 [ 0.101 [ 0.101 [ 0.21 | 2.88
H25BE | 40 | 48 |12.5| 5.8 | 108.6( 35|50 M6 | 9.0 [ 86.9 | Mex1 [14.2((15.6)|23(19.2|60 | 7.0 |11.0{ 9.0 | 292 | 36.0 | 63.3 | 0.679 | 0.819 | 0.819 [ 0.80 | 2.88
R B e I N e e H30BN | 45 | 60 [16.0| 7.0 | 94.8 | 40|40 M8 | 12.0 | 67.8 | Méx1 | 13 [(15.6)|28(22.8|80 | 9.0 [14.0{12.0| 29.7 | 36.7 | 54.6 | 0.706 | 0.551 | 0.551 [ 0.91 | 4.45
X25BN | 36 | 48 [125|58 (792 | 35(35| M6 | 9.0 [57.5 | mex1 [102[(156)] 23 [19.2]60 [7.0 [11.0] 9.0 | 201 | 248 | 411 | 0.440 | 0.352 [ 0.352 | 0.40 | 288
X25BL | 36 | 48 |12.5]5.8 | 93.9 | 35|35 | M6 | 9.0 | 722 | Mex1 |10.2|(156)] 23 |19.2]|60 | 7.0 | 11.0] 9.0 | 259 | 31.9 | 52.8 | 0.566 | 0.568 | 0.568 | 0.54 | 2.88 | O | HO0BL |45 |60 |16.0) 7.0 | 105014014060 | M8 | 12.0 | 78.0 | M6X1 | 13 |(156)|28|228|80 | 9.0 |14.0]12.0] 38.5 | 475 | 70.7 | 0.915 | 0821 | 0.821 | 1.04 | 445
X25BE | 36 | 48 |12.5]5.8 |108.6] 35|50 | M6 | 9.0 [86.9 | Mexi |102](156)] 23 [19.2]60 |70 | 11.0] 90 | 202 | 36.0 | 633 | 0670 | 0519 |81 | 067 | 288 H30BE | 45 | 60 |16.0| 7.0 | 130.5| 40|60 M8 [ 12.0(1035| MeX1 | 13 |(15.6)|28|22.8| 80 [ 9.0 [14.0{12.0| 429 | 52.9 | 86.7 | 1.122 | 1.336 | 1.336 | 1.36 | 4.45
53085 22 60 [160l7.0 622 a0 M8 [10.0 (372 | Mex1 | 10 |(15.6)] 28 [22.8] 80 | 9.0 [14.0|12.0 | 147 | 182 | 27.0 | 0350 | 0.150 | 0150 | 0.50 | 4.45 H35BN | 55 | 70 |18.0| 7.5 | 111.5|50 |50 M8 [ 12.0| 805 | M6X1 [18.5((15.6)|34(26.0|80 9.0 [14.0{12.0| 424 | 52.3 | 81.1 [1.282 | 0.972 | 0.972 | 150 | 6.25
s30BN | 42 | 60 [16.0/7.0 | 948 | 40|40 M8 | 10.0|67.8 M6X1 10 [(15.6) | 28 |22.8] 80 | 9.0 | 14.0{12.0 | 29.7 36.7 54.6 | 0.706 | 0.551 | 0.551 | 0.80 | 4.45 © | H35BL | 55 | 70 |18.0| 7.5 [ 123.5|/ 50|50 |72 | M8 | 12.0 | 92.5 M6X1 |18.5((15.6)|34|26.0(80 | 9.0 |14.0|12.0| 52.9 654 (1014|1602 | 1.396 | 1.396 | 1.80 | 6.25
s30BL | 42 | 60 |16.0]7.0 [105.0] 40|40 | M8 | 10.0 | 78.0 M6X1 10 |(15.6) | 28 [22.8]|80 [ 9.0 [14.0|12.0 | 385 475 | 707 | 0915 | 0.821 | 0.821 | 0.94 | 4.45 H35BE | 55 | 70 [18.0( 7.5 | 153.5| 50 | 72 M8 | 12.0 [122.5| M6X1 |18.5|(15.6)|34(26.0| 80 | 9.0 [14.0(12.0| 58.3 719 (1253 |1.981 | 2.286 | 2.286 | 2.34 | 6.25
S30BE | 42 | 60 |16.0]7.0 |130.5| 40|60 | M8 |10.0 [103.5| MeX1 10 |(15.6) | 28 [22.8| 80 | 9.0 [14.0(12.0 | 42.9 529 |[86.7 | 1122 | 1.336 | 1.336 | 1.16 | 4.45 H45BN | 70 [ 86 [20.5( 8.9 | 129.0| 60 60 M10| 18.0 | 94.0 [ M8X1.25|24.4| (16) |45(31.1|105|14.0(20.0(17.0| 58.0 716 [108.9|2.300 | 1.524 | 1.524 | 2.28 | 9.60
S35BS | 48 | 70 [18.0| 7.5 | 75.5 | 50 M8 [10.0 [44.5 | Mex1 [11.5](15.6)| 34 [26.0[ 80 [ 9.0 [14.0{120 | 212 | 262 | 40.7 | 0.643 | 0.269 | 0.269 | 0.80 | 6.25 | ©| H45BL | 70 | 86 |20.5| 8.9 | 145.0 60|60 [80 | M10| 18.0 |110.0 | M8X1.25| 24.4 | (16) |45|31.1|105[14.0|20.0({17.0| 69.0 | 851 [129.5|2.736 | 2.122 | 2.122 | 2.67 | 9.60
S35BN | 48 | 70 [18.0|7.5 |111.5| 50 |50 | M8 [10.0 |80.5 | M6X1 [11.5((15.6)| 34 |26.0( 80 |9.0 [14.0|12.0 | 424 | 523 | 81.1 | 1282 | 0.972 | 0.972 | 1.20 | 6.25 H45BE | 70 | 86 [20.5| 8.9 | 174.0| 60 |80 M10| 18.0 |139.0 | M8X1.25[24.4 | (16) |45|31.1]|105]|14.0(20.0(17.0| 79.7 | 98.4 |163.3 | 3.449 | 3.379 | 3.379 [ 3.35 | 9.60
S35BL | 48 | 70 [18.0( 7.5 [123.5] 50 |50 | M8 [10.0 925 | Mex1 [11.5((15.6)| 34 [26.0{ 80 | 9.0 [14.0{12.0 | 529 | 654 [101.4| 1,602 | 1.396 | 1.396 | 1.40 | 6.25 H55BN | 80 [100(23.5(12.7 155.0| 75 | 75 M12[22.0(116.0 | M8X1.25(24.0 | (16) |53(38.0|120{16.0{23.0{20.0| 69.8 | 862 [133.4 | 3303 | 2.304 | 2.304 | 3.42 |13.80
S35BE | 48 | 70 [18.0)|7.5 [153.5| 50 | 72 | M8 | 10.0 [122.5 | M6X1 |11.5|(15.6)| 34 |26.0|80 [9.0 | 14.0{12.0 | 58.3 | 71.9 [125.3| 1.981 | 2.286 |2.286 | 1.84 | 6.25 © | H55BL | 80 |100(23.5(12.7| 193.0| 75|75 [ 95 | M12| 22.0 | 154.0 | M8X1.25| 24.0 | (16) |53|38.0|120{16.0{23.0|20.0 94.2 | 116.3 |178.9 | 4.428 | 4.101 | 4.101 | 4.57 [13.80
S45BN | 60 | 86 [20.5(|8.9 |129.0( 60|60 | M10|15.5|94.0 | M8X1.25 |14.4| (16) | 45 |31.1[105|14.0 [20.0|17.0 | 580 | 71.6 |108.9| 2.300 | 1.524 | 1.524 | 1.64 | 9.60 H55BE | 80 [100|23.5(|12.7| 210.0( 75|95 M12[22.0 |171.0 | M8X1.25(24.0 | (16) |53 (38.0|120(16.0(23.0(20.0| 127.7 | 157.7 |253.6 | 6.279 | 6.458 | 6.458 | 5.08 |13.80
S45BL | 60 | 86 [20.5(|8.9 [145.0| 60 60 [ M10[15.5 [110.0 | M8X1.25 [14.4 | (16) | 45 [31.1(105(14.0 [20.0{17.0 | 69.0 | 851 [129.5| 2736 | 2.122 | 2.122 | 1.93 | 9.60
S45BE | 60 | 86 [20.5(|8.9 [174.0| 60 |80 [ M10[15.5 [139.0 | M8X1.25 [14.4 | (16) | 45 [31.1(105(14.0 [20.0{17.0 | 79.7 | 984 |163.3| 3.449 | 3.379 |3.379 | 2.42 | 9.60
S55BN | 70 [100(23.5(12.7(155.0| 75 | 75 | M12[18.0 [116.0 | M8X1.25 |14.0| (16) | 53 [38.0{120{16.0 [ 23.0{20.0 | 69.8 | 86.2 |133.4| 3.303 | 2.304 | 2.304 | 2.67 | 13.80 e Equal load capacities in four directions e High seppd-low noises
S55BL | 70 |100[23.5|12.7(193.0| 75|75 | M12| 18.0 [154.0 | M8X1.25 |14.0| (16) | 53 |38.0 120 [16.0 | 23.0(20.0 | 94.2 | 116.3 [178.9| 4.428 | 4.101 | 4.101 | 3.57 | 13.80 High rigidity 4-row angular contact Interchangeability
S55BE | 70 [100]23.5[12.7[210.0] 75| 95 | M12[18.0 [171.0 | M8x1.25 [14.0| (16) | 53 [38.0[120[16.0 [ 23.0{20.0 | 127.7 | 157.7 |253.6| 6.279 | 6.458 | 6.458 | 3.97 [ 13.80 Integral a_”'“_"_md double sealing N'O_ba” drop
-} a
EERR ¥ L
BGX & BGC SERIES (H-F) (S-F) i N ] DI o AN
- - [ o @ o L) 2l < 1 S : = =
. ‘rﬁaii Kz =i = —
* R ih = %
© PLEASE CONTACT OME/ STAF FOR MORE INFORMATION. ol & s N TL. TE Only 1/6-1/10 Fluctuation range for cage block
Assembly-mm Block-mm Rail-mm Rating load-kN Static moment - kN-m | Block | Rail 1000 1000
Model T Tw w2 [€E [ L [8lamalmn [ 1 |1 | oin [T1] N [Wilmi[F|d D | h |cBox|ceac| co | Wx My | M, | kg |kg/m _ 900 Model No : BGXH25FN-Z1 __ 90f Model No : BGCH25FN-Z1 .
H15FN | 24 [ 47 [ 16.0[ 3.3 [ 586 [38 [30| M5 | 44 | 8.0 [40.2 [ M4x07 [ 55 | (5) |15[13.0]60|45[75 [60| 93 | 115 [196|0.136 | 0.117 | 0.117 | 0.21 [ 1.28 2 wof Seeed:10mmis 2 wof Speed:1ommis QK =
H15FL | 24 [ 47 [ 16.0[ 3.3 [ 66.1 [38 [30] M5 | 44 | 8.0 [47.7 [ M4ax07 [ 55 | (5) |15[13.0]60 |45 |75 [60| 113 | 139 [23.7 [0.164 | 0.169 | 0.169 | 0.23 | 1.28 2 mop 2 mop =
H15FE | 24 | 47 [ 16.0[ 33 [ 81.1 [38 [30| M5 | 44 [ 8.0 [62.7 [Max07 [ 55| (5) [15[13.0[60[45[75 6.0 137 | 169 [31.4 [0.217 [ 0.293 [0.203 | 0.29 | 1.28 S e S eoof e -
©|s15Fs | 24 | 52 | 185 [ 3.3 | 40.6 |41 M5 | 4.4 | 80 [222 [ Max0.7 | 55| (5) | 15[13.0]60| 45|75 60| 46 | 57 | 9.8 0068|0032 |0032] 0.12 | 1.28 g s Fluctuation range 38% g soop « Cage & Non-cage blocks
S15FN [ 24 [ 52 [ 185[3.3 | 58.6 [41[26] M5 | 44 | 80 [402 | M4ax0.7 [ 55| (5) [15[13.0|60[45]75 60| 93 | 115 [196]0.136 [ 0.117 [0.117 [ 0.19 [ 1.28 > > r on the same profile rail
H20FN [ 30 [ 63 [ 21.5[ 45 [ 69.3 [53 [40] M6 | 54 | 9.0 [485 | mMex1 | 7.1 [(15.6)[ 20 [16.3]60[6.0 [ 95 [85 | 143 | 17.7 [ 305 [ 0.285 | 0.220 [ 0.220 | 0.40 | 2.15 = 0 =
H20FL [ 30 [ 63 [ 21.5| 45 [ 82.1 [53 [40| M6 |54 [ 9.0 [61.3 [ Mex1 | 7.1 [(15.6)[ 20 [16.3[60[6.0 [ 95 [ 85| 186 | 23.0 [39.5[0.369 [ 0.361 [0.361 | 0.46 | 2.15 ® P
H20FE | 30 | 63 [ 215 |45 [ 97.3 |53 [40] M6 |54 | 90 [765 | mMex1 | 7.1 [(15.6)|20[16.3]60 6.0 |95 [85| 221 | 27.3 [48.9 |0.456 | 0.557 [ 0.557 | 0.61 [ 2.15 Ennoononononon.aq
© [S20FS | 28 | 59 | 19.5| 4.5 | 48.3 |49 M6 | 54 | 7.0 [27.5 | M6X1 | 5.1 [(15.6)|20(16.3|60|6.0 |95 |85 | 7.4 9.1 [15.7 | 0225 |0.101 |0.101 | 0.18 | 2.15 0 50 100 150 200 250 0 50 100 150 200 250
S20FN | 28 | 59 | 195 [ 4.5 | 69.3 |49 [32| M6 |54 | 7.0 |485 | MeX1 | 5.1 |(15.6)[20(16.3|60 (6.0 | 95 |85 | 143 | 17.7 [30.5 | 0285 | 0.220 | 0.220 | 0.31 | 2.15 Stroke (mm) Stroke (mm)
H25FN [ 36 [ 70 [ 23.5[ 5.8 [ 79.2 [57 [45| M8 | 7.0 [10.0 [57.5 [ Mex1 [10.2](15.6)| 23 [19.2[60[ 7.0 [11.0] 9.0 | 201 | 248 [41.1 | 0440 [ 0352 0352 | 057 | 2.88
H25FL | 36 | 70 [ 235 [ 5.8 [ 93.9 |57 [45] M8 | 7.0 [100[722 | mex1 [102[(15.6)] 23 [19.2]60 7.0 [11.0] 00| 259 | 31.9 [52.8 | 0566 | 0.568 | 0.568 | 0.72 | 2.88 Accuracy Standard o
H25FE | 36 | 70 | 235 [ 5.8 [108.6|57 [45] M8 | 7.0 [10.0[86.9 | mMex1 [10.2[(15.6)] 23 [19.2]60 7.0 [11.0]90 | 2902 | 36.0 [63.3 | 0679 | 08190819 ] 0.89 | 288 Grinding Surface r_@
©[S25FS | 33| 73| 25058 | 54.0 |60 M8 | 7.0 | 7.0 [32.3 | Mex1 | 7.2 |(15.6)| 23 [19.260|7.0 |11.0]9.0| 103 | 127 [21.0]0.225 | 0.101 | 0.101 | 0.33 | 2.88
S25FN | 33 | 73 | 25.0 | 5.8 | 79.2 |60 |35| M8 | 7.0 | 7.0 |57.5 | Mex1 | 7.2 | (15.6)| 23 |19.2] 60 | 7.0 |11.0 | 9.0 | 201 | 248 |41.1 | 0.440 | 0.352 | 0.352 | 0.50 | 2.88 Normal(N)
o |HaoFs [ 42| 90 [ 31.0|7.0 [ 642 |72 M10| 8.6 | 11.0 |37.2 | Mex1 | 10 | (15.6) | 28 [22.8| 80 | 9.0 [14.0 [12.0| 147 | 182 |27.0 | 0.350 | 0.150 | 0.150 | 0.80 | 4.45 (um) High(H)
H30FN | 42 | 90 [ 31.0|7.0 | 94.8 |72 [52|M10| 86 |11.0 |67.8 | MeX1 | 10 |(15.6)| 28 |22.8] 80| 9.0 [14.0 [12.0| 297 | 36.7 | 546 |0.706 | 0.551 | 0.551 | 1.10 | 4.45 NG Precision(P)
H30FL | 42 [ 90 [ 31.0[ 7.0 [105.0[72 [52[M10| 86 [11.0 780 | Mex1 [ 10 [(15.6)] 28 [22.8] 80| 9.0 [14.0 [12.0] 385 | 475 [70.7 [0.915 | 0.821 | 0.821 | 1.34 | 4.45 D Super-Precision(SP)
H30FE [ 42 [ 90 [ 31.0[ 7.0 [1305[72 [52|m10| 8.6 [11.0 [1035] Mex1 | 10 [(15.6)| 28 [22.8[80 [ 9.0 [14.0[12.0| 429 | 529 [86.7 | 1.122 [ 1.336 | 1.336 | 1.66 | 4.45 Ultra-Precision(UP)
© | H35FS | 48 [100| 33.0| 75 | 755 |82 M10| 8.6 | 12.0 | 445 | M6X1 |11.5| (16) | 34 |26.0|80 | 9.0 |14.0 [12.0| 212 | 262 |40.7 | 0.643 | 0.269 | 0.269 | 1.00 | 6.25 —= —= — ol Unit - mm
H35FN | 48 [100 | 33.0 [7.5 |111.5 |82 |62 |M10 | 8.6 |12.0 |80.5 | M6X1 |11.5| (16) |34 |26.0 |80 |9.0 |14.0 [12.0 | 424 | 52.3 |81.1 [1.282 [0.972 |0.972 | 1.50 |6.25 GRADE | Nomaltn) | High(t | Precision(ry | SuPer-Precision [ Ufi-Precision
H35FL | 48 [100] 33.0 | 7.5 [123.5]82 |62 M10]| 8.6 | 12.0 | 92.5 | Mex1 [11.5] (16) | 34 [26.0| 80 | 9.0 |14.0 [12.0| 52.9 | 654 |101.4|1.602 | 1.396 | 1.396 | 1.90 | 6.25 Length of rail(mm) ITEM (SP)
H35FE | 48 [100| 33.0 | 7.5 [153.5/82 [62| M10| 8.6 | 12.0 [122.5| M6X1 |11.5| (16) | 34 |26.0| 80 | 9.0 |14.0 [12.0] 58.3 | 71.9 |125.3|1.981 | 2.286 | 2.286 | 2.54 | 6.25 —_— Tolerance of height (H ) 01 | 004 | 5, 002 001
H45FN | 60 [120 | 37.5 [ 8.9 [129.0(100|80 | M12 |10.6 | 15.5 | 94.0 |M8X1.25 | 14.4| (16) | 45 |31.1105]14.0(20.0 [17.0| 58.0 | 71.6 [108.9|2.300 | 1.524 [ 1.524 | 2.27 | 9.60 Fig. 1-1 BG rail length and running parallelism Tolerance of width (W ) 0.1 | £0.04 | %, 002 Iy
H45FL | 60 [120 | 37.5 [ 8.9 |145.0|100(80 | M12|10.6 | 15.5 [110.0 |[M8X1.25 | 14.4| (16) | 45 |31.1(105/14.0(20.0 [17.0| 69.0 | 851 [129.5(2.736 | 2.122 | 2.122 | 2.68 | 9.60 Difference of heights (AH ) 003 | 002 0.01 0.005 0.003
H45FE | 60 [120 | 37.5 [ 8.9 [174.0|100(80 | M12|10.6 | 15.5 [139.0 [M8X1.25 | 14.4| (16) | 45 [31.1(105/14.0{20.0 [17.0| 79.7 | 984 [163.3|3.449 | 3379 |3.379 | 3.42 | 9.60 Difference of widths (AW ) 003 o002 001 0008 0003
H55FN | 70 [ 140 | 43.5 [12.7 | 155.0|116 |95 | M14 | 12.6 | 18.5 [116.0 |M8X1.25 | 14.0| (16) | 53 |38.0(120(16.0(23.0 {20.0| 69.8 | 86.2 [133.43.303 | 2.304 | 2.304 | 3.44 |13.80 High accuracy Low noise Running paralleliom of BG Block surface A Rofor to Fig. 1-1
H55FL | 70 [ 140 | 43.5 [12.7 | 193.0(116 |95 | M14 | 12.6 | 18.5 [154.0 |M8X1.25 | 14.0| (16) | 53 |38.0(120(16.0(23.0 {20.0| 94.2 | 116.3 [178.9| 4.428 | 4.101 | 4.101 | 4.63 [13.80 [C] with respect to surface [A] :
H55FE | 70 [ 140 | 43.5 [12.7 {210.0 [116 |95 | M14 [12.6 | 18.5 [171.0 |[M8X1.25 | 14.0| (16) | 53 |38.0(120(16.0(23.0 [20.0| 127.7 | 157.7 |253.6| 6.279 | 6.458 | 6.458 | 5.16 |13.80 Ly (et Leny vilsmaiiem Running parallelism of BR Block surface _
[D] with respect to surface AD Refer to Fig. 1-1




